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2.9 Derivatives of Logarithmic Functions

Standard

MCDIE
:



This was created by Keenan Xavier Lee, 2013. See my website for more information, lee-apcalculus.weebly.com. 

OH Exponential Derivatives & Implicit Differentiation
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net Logarithmic Derivatives

Let's consider ftxklogax .

Let's find the derivative
.
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[Examples] Find the derivates
.
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Now let's consider ftp.lnx .
We want to find the derivative .

So , y = lnx f¥rm#mo# eT=×
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Logarithmic Rules for Derivatives
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CExamples] Find the derivatives .
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[MoreExampled Differentiate problems .
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